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’)
b

M> S

S <

Left- skewezi/

Fouhvcly <kewec| dist rcbubon
Aistrb i b pn streution

K,Lg ht - skcwcd/

Negahwely skiwed

W= Mean, M= Median | M, = Mode -

No. of bing = |+ 3.3 x Loﬂ/o {3/) = 592 ~ g,
Lowet 2 = 3¢ . 5 N
Hiﬁktst 2= 99 .

Length o €ach interval = %___3"_ _ 63 J2-.
- s
34- 43
48 — 60 -
60—~ 72
T2- 84

B4- 19

New Section 22 Page 1



How old is the oldest person you know who is currently alive? 31 responses from a
statistics class were as follows.
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(i) Draw a histogram for the age data.
(i) Plot Kernel density estimates on the histogram.

(iii) Plot the empirical distribution function for the age data
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